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1.

Daniel already has 7 school shirts.
Daniel’s mother buys him 3 more school shirts.

How many school shirts does Daniel have altogether?

There are 9 children in a bus.
There are 6 adults in the bus.

How many people in the bus?

. There are 9 fish in Eric’s fish tank.

He buys 3 more fish and adds them to the fish tank.

How many fish in Eric’s fish tank now?

Kameke’s mother likes cushions.

There are 8 cushions in the living room.

Her mum buys 6 more cushions and puts them in the living room.

How many cushions in the living room now?

Hawa is unpacking some shopping.
There are already 3 bananas in a bowl.
She opens a packet of 7 bananas and adds them to the bowl.

How many bananas in the fruit bowl now?

Two buses arrive at a school at the same time.
There are 7 pupils getting off the front bus.
There are 4 pupils getting off the rear bus

How many pupils are getting off the buses?

Answers 1) 10 2)15  3)12  4)14 510  6) 11
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